REVISIONS
ITEM | PART NUMBER DESCRIPTION Ty [ 20N L DESCRIPTION OWN. | DaTe £.0. | CHKD
NO.
LIST OF BULK OR MISCELLANEOUS MATERIALS A_[RELEASE TO PRODUCTION LS [1-29-03[10941 TA
- 2.10 -
( FCC ID: QVU-LSCNIREM 1 |
IC:. 4511A-TATZIREM
This device complies with part 15 of the FCC rules.
Operation is subject to the following two conditions: -85 NOTES:
1 This device may not cause harmful interference and
2 Tis device must accept any interference received | MATERIAL: LEXAN POLYCARBONATE 8835, .007* THICK
including interference that may cause undesired operatin) | ADHESIVE:3M #7952, .002" THICK
X COATING: NONE-PRINTING ON BOTTOM SIDE
4X RI/16" THEREFORE POLYCARBONATE
PROVIDES PROTECTION.
2. PANTONE COLORS: BACKGROUND - GRAY: 442
THIS FCC STATEMENT MUST LETTERING = RED: 201
BE REPLICATED AS SHOWN.
|Jg" PART NUMBER DESCRIPTION arty
LIST OF MATERIALS
TiT AN 107 BAUER DR.
OAKLAND, NJ 07436
DEC IMAL MATERIAL FINISH SCALE DRAWN BY: L.SINSKI
o s o0s | SEE NOTE 1 NONE [aPPROVED BY
This document contains confidential or FRACTIONAL TITLE
o i nformaion o T, T T I : Vol LABEL, FCC ID #, RF REMOTE
u5ed.or disclosed elther n whle or i part [CHEET 800-670  [ancuiar DATE DRAWN NUMBER REV
o roa e fically authorized by The | & 7" o NEXT ASSY. t 1" | 29-Jan-03 800-679 A




FAMILY TABLE GENERIC NAME: - REVISION
= o ZONE [LTR. DESCRIPTION DwN|  DATE E.0. [cHkD
@ = © A | RELEASE AS PROTOTYPE LS| 10-31-02

=S B [RELEASE TO PRODUCTION LS| 1172670210780 TA

am .
: S (] K] o
D [ADDED P/N 800-678 TO SCREW (#2-56,BLACK)[ LS| 1711703 10896] TA
= E [ADDED P/N 800-679 (LABEL, FCC ID¥) LS| 1730703 [10941] TA

ANAN

T oS S un
& - L

S

( )
(T, ~ D
L ©

O

WRAP BATTERY WIRES AROUND POST AS
SHOWN TO CREATE A STRAIN RELIEF

10 WASHER, LOCK, INTERNAL TOOTH, #4 I
@ 9 800-679 |LABEL, FCC ID #, RF REMOTE |
@@ 8 | 800-678 | SCREW,FLATHEAD,#2-56X11/16" SELF-TAP(BLACK) 2
1 800-676 |BELT CLIP I
6 800-675 |LABEL, INSTRUCTIONS, TRANSMITTER RF |
i) 800-674 | KEYPAD, TRANSMITTER RF |
4 800-673 | ASSEMBLY, PC BOARD, TRANSMITTER RF |
2 3 800-671I ENCLOSURE, TRANSMITTER RF |
REW, 4-40 X 1/4" . F-TAP SCREW |
SECTION A-A 2 SCRE LG. SEL SCRE
| BATTERY, 9V |
'TEM | PART NUMBER | DESCRIPTION QTY| ITEM | PART NUMBER | DESCRIPTION QTY
LIST OF BULK OR MISCELLANEOUS MATERIALS LIST OF MATERIALS
TR S— A S
UNLESS OTHERW ISE SPEC IFIED [MATERIAL TITAN 107 BAUER DR.
, : N MACHINED FILLETS .010R - .020R DIMENSIONS ARE IN INCHES OAKLAND, N.J.07436
This document contains confidential or REMOVE BURRS & SHARP EDGES TOLERANCES ~ SURFACE ROUGHNESS oo N
proprietary information of The Titan Tool Inc. ALL TAPPED HOLES 90 ° CSK 1STTHD |.XX =.010 125 FINISH TITLE
Neifher fhe document nor the information DIMENSIONS APPLY AFTERPLATING | -XXX =£.005 Y%
Sed or distlosed either in whole or i part FoaCTIONS eer — 20 ASSEMBLY, TRANSMITTER RF, COMPLETE
gxcenf as specifically authorized by The CLES s > [Buank wer SCALE DATE DRWN. | SINSKI [PPD JDRAW ING NUMBER REV.
Titan Tool Inc. NEXT ASSY s 10.500 29-0ct-02 [0 oate[pate] 800-670 [surlorl | E




